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Radiation Pattern

Total Gain (avg)=

Total Gain {avg)=

Total Gain {avg)=

XY Plane(dBi) XZ Plane(dBi) YZ Plane(dBi)
Vertical Pol. (max)= |-3.8| Vertical Pol. (max)= | 2.6 | Vertical Pol. (max)= |[-1.8
Vertical Pol. (avg)= |.g 4| Vertical Pol. (avg)= |-1.6( Vertical Pol. (avg)= |(-9.7

Horizontal Pol.(max)=| 4.0 |Horizontal Pol. (max)=|-1.9|Horizontal Pol. (max)=| 2.7
|[Horizontal Pol. (avg)= |-2.2 P-lorimntal Pol. (avg)= |-8.4| Horizontal Pol. (avg)= [-2.1
Total Gain max)= |40 | Total Gain(max)= |2.7| Total Gain (max)= |2.7
-19 -1.3 -1.9




